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REGISTRATION NUMBER :

EXAM DATE : 31-August-2016

EXAM NAME : SSC Examination 2016
TOTAL MARKS : 200

Question 1.Select the related word/letters/numbers from the given alternatives:

AT e H 9 Y RId wsg/3erl"  Bh g
CURE : DISEASE :: HEAL : ?
AT 1 I 2 WR ST : 2

Options:
1) Iliness
CIEI

2) Injury
Gl

3) Recover

R ST

4) Sick

AR

Correct Answer: Injury

Candidate Answer: Injury

Question 2.Select the related word/letters/numbers from the given alternatives:

AT e ¥ AT R wsg/3eRlT B! gl
DBCE : QOPR :: JLKI : ?

Options:

1) YWXU

2) WYXV

3) WXYV

4) WYVX
Correct Answer: WYXV
Candidate Answer: WYXV

Question 3.Select the related word/letters/numbers from the given alternatives:

U e # 4 ¥ fAd wg/seryd B gHu
6:42::12:7

Options:

1) 48

2)72

3) 60

4) 84
Correct Answer: 84
Candidate Answer: 84

Question 4.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

22 T el & 3 R wegy srar/d W gRT
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Options:

1) High-Up

FET- JWR

2) Past-Present

YdPIcl-

3) Often-Seldom

SRR-F i

4) Fresh-Stale

Gl

Correct Answer: High-Up
FAT - FW

Candidate Answer: High-Up
FAT - FW

Question 5.

For the following questions

Find the odd word/letters/number from the given alternatives.

2 T e & 9 fawy sy 1R/ BRI
Options:
1) AOU

2) EOI
3) UIE

4) ALO
Correct Answer: ALO
Candidate Answer: ALO

Question 6.

For the following questions

Find the odd word/letters/number from the given alternatives.

o8 T faepenl A v Wy SraR/E BT
Options:
1) 13

2) 17
3)29

4) 87
Correct Answer: 87
Candidate Answer: 87

Question 7.Arrange the following words as per order in the dictionary and choose the one that comes first:
iR Seal # ¥ UEdIN & SI8R UYH g Jast|

1. Temple 2 Tenant 3. Terminate 4. Temperature
Options:
1) Temple

2) Tenant
3) Terminate

4) Temperature
Correct Answer: Temperature
Candidate Answer: Temperature

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
T Y G w8, foaw ue ug gw 81 u e st | w6l fawew 9T S S oY g1 |

NOM, QRP, TUS, ?



Options:
1) WAX

2) HUT
3) WXV

4) HTU
Correct Answer: WXV
Candidate Answer: WXV

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
& TS e & g 3ieh I I 2

1,3,7,13,21,?

Options:

1) 27

2)29

3)31

4) 33
Correct Answer: 31
Candidate Answer: 31

Question 10.If it is Saturday on 27th September, what day will it be on 27th October of the same year?

27 fdsR &1 IR T 3T I 27 HaqaR B HH-1 37 g 2
Options:
1) Thursday

2) Sunday

3) Friday

RPdR

4) Monday

Correct Answer: Monday

Candidate Answer: Monday

Question 11.The ratio of the ages of man and his wife is 4:3. After 4 years, the ration will be 9:7. If at the time of marriage, the ratio was 5:3, how many years ago
were they married?

TS YoV 3R IUB! Uell B 341G BT U 4:3 B 4 IY a1 g 30N 9:7 B SRR IfE 21} & THF T8 SUTd 5:3 T, al 3791 =Mt by af g g% 2t 2
Options:
1) 12

2) 24
3)5

4)8
Correct Answer: 12
Candidate Answer: 12

Question 12.From the given words, select the word which cannot be formed using the letters of the given word.

fafaRed fawed! o & 98 sa MU S U 1T Xeg & 31&RT BT TN b A1 ST S Thall|
ALTERNATIVES

Options:

1) ALTER

2) NATIVE

3) TEN

4) NATIONAL

Correct Answer: NATIONAL

Candidate Answer: NATIONAL

Question 13.If code P is denoted by 7, X by 9, M by 5, Z by 8, Lby 2, T by 1, then ZLTPXM will be

e p, 7 B WATR, X, 9 PI ST R, M, 5 B ST S, Z, 8 HI WA ®, L, 2 B 3R T, 1 B, ol ZLTPXM T HIF 1 G171 ?



Options:
1) 812851

2) 821591
3) 812715

4) 821795
Correct Answer: 821795
Candidate Answer: 821795

Question 14.If 24x2=84, and 32x3=69, then 13x3=?

TR 24x2 = 84, 3R 32x3= 69 Y, a1 13x3 = ?
Options:
1) 38

2) 93
3) 16

4) 10
Correct Answer: 93
Candidate Answer: 93

Question 15.If + means division, - means multiplication, '+' means subtraction, x means addition, and < means less than, then which of the following is false?

e + BT HAGS HIT 81, - BT AqQ 07 Y, '+ BT Aqad YT 8, x BT Aqad T 81 3R < 1 Aqad 4 81 af Refifad feed § ¥ $H-91 7Tad & ?
Options:
1) (1042)27 < (1027)+2

2) (10-7)x2 < (10x2)-7
3) (10X7)-2 < (10-2)x7

4) (10+2)+7 < (10+7)x2
Correct Answer: (10X7)-2 < (10-2)x7
Candidate Answer: (10X7)-2 < (10-2)x7

Question 16.Select the missing number from the given responses.

‘\/91 a ﬁ

R e T IqE T B P ?
Options:

1)1

1

2)4

4

3)9

9

4) 25

25

Correct Answer: 25
25

Candidate Answer: [ NOT ANSWERED ]

Question 17.Ram went 20 meters to the north then turned towards east and walked another 5 meters, then he turned towards right and covered 20 meters. How far
is he from the starting point?

W IR B 3R 20 Hiex 7, R yd @t SR Geae 5 Hiex T iR 5 g1fes geax 20 Hier I 98 39 fig I fbat @ 8 o6l & 397 g oy faar ot 2
Options:

1)3m

3R

2) 4m

4 e

3)5m

5 fieR

4)6m

6 Hiex

Correct Answer: 5 m

5 dex

Candidate Answer: 5 m
5 dex



Question 18.0ne or two statements are given followed by two or more conclusions/assumptions, I, II, III, IV. You have to consider the statement to be true, even if it
seems to be at variance from commonly known facts. You are to decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statement:

1. All goats are tigers.

2. All tigers are lions.

Conclusion:

1. All tigers are goats.

I1. All lions are tigers.

III. No goat is a lion.

IV. No lion is a goat.

fufaRad ue & e 1 <) gaqed 33 T ], e 3m 4 Fsew/argang, 1, 11, 111 3R 1v e T § 13! faR &1 § 9 dodon 9 § 91 98 9 T 9t @
o gciia g 811 st Fufa w1 | 6 fou e aoden & @ wF-w1 Rida T 9 98 fees/mmiar e o gedr |

Options:

1) Only Conclusion III & IV follow

ol sy 111 & IV IE1 B

2) Only Conclusion I & II follow

Fad ey 1 & 11 T8 ]I

3) None of the Conclusions follows

T8 A 1 ot sy T T B

4) All Conclusions follow

it frepef Tt B

Correct Answer: None of the Conclusions follows
78 Y S 1 e It e B

Candidate Answer: None of the Conclusions follows

H A F1S ot Frwef Wt et B
Question 19.In the question figure how many squares are there in all? Select from the given alternatives.

& T vy 3pfa H T fvan o9 § 2 Ry et 9 wE S gful

Options:
1) 12

2) 14
3) 10

4) 11
Correct Answer: 14
Candidate Answer: 14

Question 20.In the following figure, triangle represents teachers, square represents merchants and circle represnts social workers. Which number space represents
Teachers who are social workers?

frofiaa sl & Ays srede! ol o=ifdr 8, avf amaia) o axiidT § iR 90 TA 9§ 9 3 Gia1 81 $H-TW T BT SHeAH! $I =i 7, o 90 F ¥ 2




Options:
1)3

2)2
3)4

4)5
Correct Answer: 2
Candidate Answer: 2

Question 21.Which answer figure will complete the pattern in the question figure?

-G IR P U S B g1 H¥ft 2
?

Options:

1)

2)

Correct Answer:




Candidate Answer:

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded.

U T et # A U IR 3Mia &Y gL RBred Uy arpla AR 81

Options:
1)

2)

3)

4)

= A & K

Correct Answer:

=




Candidate Answer:

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

1
I
I

de e kL

l_.__&__.
__jt
.._IE__M

r
f
T

1

Ife; Tt BT 1 R ford v STl & S TUR HISTR HIeT S Y W & a16 I8 b9 STfal o faams & 2
Options:
1)

2)

Correct Answer:

3




Candidate Answer:

Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

e T U7 BT MN T TR T 91E Y & T3 IR SM1pfadl & | -1 Mpfa Uy Sipfay o1 It ufafawa gl »

s

Options:
1)

2)

HA N
3)

Y™ (7
4

-/

“
Correct Answer:




Candidate Answer:

N

Question 25.1In this question, the sets of numbers given in the alternatives are represented. The columns and rows of Matrix I are numbered from 0 to 4 and that of
Matrix II are numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., D can be represented by 02, 10,
etc., and 'R' can be represented by 55, 67, etc. Similarly you have to identify the set for the word 'BEAR'

U Ved $ac U §  BHYE GRI X1 1 ], SR b Rieped! § § ol wop & R mar 81 fysvedl § Ruaud  wws 216Ri & 41 a9l gRI exifu U &, 3 b 9 ey e
& [ H g NMEE I TR IR BI T BY4 AR MEE I BI5IATTE ]I A [ U 31&R B U TP U R a1 A T TFRT =051 S
Tl gmwéﬂ%ﬂq‘o'ﬁoz, 10 3M1fE ERT <Ifa ST Wehel § qUT 'R ' 1 55, 67 TS GRT T T 5| 3 A8 W 3P AT U Wed 'BEAR' & orT Tgg 1
LREIREIE]

MATRIX -1 MATRIX - IT
1 T A ) [ e e )
1 B C D E A 5 R 0O N T u
2 D E A B G 6 T u R o} N
a8 e DN N ES AT RS 788 o R i L S R
45 B HER I e D E a e el @ i G
53 IRE N IEAR A N clEON ol N T R O

Options:
1) 13,11,12,78

2) 31,22,23,97
3) 42,34,42,79

4) 24,40,23,67
Correct Answer: 24,40,23,67
Candidate Answer: 24,40,23,67

Question 26.Money market is a market for

Ui SR e [ gl & 2
Options:

1) Short term fund
TIPS DY

2) Long term fund
PICIH BIY
3) Negotiable instruments

T forgd
4) Sale of shares

FlRNCINCE]

Correct Answer: Short term fund

Candidate Answer: [ NOT ANSWERED ]

Question 27.India shares longest international boundary with which country?

YR Fafifed § 3 5w 3 & 9y gl ol SieRfa W @ arE aRar © 2
Options:

1) Bangladesh

AR

2) China

=

3) Nepal

BRI

4) Bhutan
Y

Correct Answer: Bangladesh

Candidate Answer: China

Question 28.The Residuary powers of legislation under Indian Constitution rests with

HRAT T3 & 3 Rym ot iy wisat s AT g g 2



Options:
1) President

2) Prime Minister

Y w2

3) Parliament

Tqoq

4) States

g

Correct Answer: Parliament

R

Candidate Answer: [ NOT ANSWERED ]

Question 29.Appointments for all India Services are made by

Hfad YR § 18l & fore Frgfaaal & FRar g 2
Options:

1) UPSC

g AP O THEN

2) President

3) Prime Minister
CIEReFl

4) Parliament
e

Correct Answer: President

Candidate Answer: President

Question 30.The people of the Indus valley civilisation worshipped

iy OISt B W1 & ART fbedh! gol v 3 ?
Options:
1) Vishnu

2) Pashupati

3) Indra

%
4) Brahma

EEI
Correct Answer: Pashupati

Candidate Answer: Indra
EE)

Question 31.The Upanishads are the

Sufvg &g 2

Options:

1) Great Epics

HBThIY

2) Story Books

HU-TIE

3) Source of Hindu Philosophy

g =\ F1 9

4) Law Books

B ST gD

Correct Answer: Source of Hindu Philosophy

g =F H19a

Candidate Answer: Source of Hindu Philosophy
¥ %1 9

Question 32.Tsangpo is the other name in Tibet for

forsaa o foiapT gaRT 19 Tl 8 2
Options:

1) Kosi

Eagilf

2) Gandak
TSP
3) Brahmaputra

ERLcel

4) Ganga

T

Correct Answer: Brahmaputra

ERkE)

Candidate Answer: Brahmaputra

ERkE)




Question 33.The largest herbarium of India is located at

HRA Bl G ST a1l T g Pl fRUT B ?
Options:

1) Kolkata

PIAPId

2) Lucknow
[SLCEIRA)
3) Mumbai

4) Coimbatore
Correct Answer: Kolkata

Candidate Answer: [ NOT ANSWERED ]

Question 34.Temperature of distant luminous bodies can be determined by

WA I s & aoAF 3 by 9 I RufRa s g 2
Options:

1) Mercury thermometers

URq

2) Gas thermometers

3) Pyrometers
IRRIHIEY

4) Colour thermometers
Correct Answer: Pyrometers

Candidate Answer: [ NOT ANSWERED ]

Question 35.In IT terminology failure in the kernel is called as

T TN 3T earach H prict T Bl 1 Py § 2
Options:

1) crash

B

2) crash dump

P

3) dump

ISt

4) Kernel error

Frid TR

Correct Answer: crash

Candidate Answer: [ NOT ANSWERED ]

Question 36.Which of the following institutions was not founded by Mahatama Gandhi?

afifea O 3 g 9 Fw! QIO JETAT iR = 78 &t ot 2
Options:
1) Sabarmati Ashram
HIeRA 3HTYH
2) Sevagram Ashram
STHH
3) Vishwa Bharti
fay yrdit
4) Phoenix Ashram
SHTHH

Correct Answer: Vishwa Bharti
fay yreit

Candidate Answer: Vishwa Bharti
fay yreit

Question 37.Which of the following State has become India's first carbon free State?

Fafiad § ¥ SIH-91 s YR &1 T Hla- Gad 9 a7 41 82
Options:
1) Himachal Pradesh

2) Madhya Pradesh
Y U™

3) Uttar Pradesh
IR UG

4) Maharashtra

HERTE

Correct Answer: Himachal Pradesh



Candidate Answer: Himachal Pradesh

Question 38.Energy travels from Sun to Earth through

Folt g ¥ gt 3 3R 5 USR aE HRedl § 2
Options:

1) conduction

EINE]

2) convection

Tag
3) radiation

4) modulation
Correct Answer: radiation

Candidate Answer: radiation

Question 39.C.K. Naidu Cup is associated with which of the following sporting events?

. ¥, Tug Hu AT A AP Ia AT T g 2
Options:
1) Tennis

2) Cricket

fohde

3) Hockey

RIGdl

4) Golf

Tiew

Correct Answer: Cricket

Candidate Answer: Cricket
e

Question 40.Pump priming should be resorted to at a time of?

e 3ffaema (T Ui g gwy faar ST =Ry ?
Options:
1) Inflation

2) Deflation
AP

3) Stagflation
I FIRRY
4) Reflation
TIITDId

Correct Answer: Deflation

Candidate Answer: [ NOT ANSWERED ]

Question 41.Which is the highest award for gallantry during peacetime?

lifdera § Fdie dRdl (TR PH-TE ?
Options:
1) Vir Chakra
IR TP
2) Param Vir Chakra
_RY IR TP
3) Ashok Chakra
I
4) Mahavir Chakra
AR T
Correct Answer: Ashok Chakra

3N TqH

Candidate Answer: Ashok Chakra
EEd

Question 42.At Barren Island, the only active volcano in India is situated in

URT & U T Wiehd S Sk 313as gl fRUd 8 2



Options:

1) Andaman Islands

SSHM gluTg

2) Nicobar Islands
gu o

3) Lakshadweep

Tergra

4) Minicoy

fafera

Correct Answer: Nicobar Islands
FREEH
Candidate Answer: [ NOT ANSWERED ]

Question 43.The transfer of minerals from top soil to subsoil through soil-water is called?

T o & Ty I 20 9T & sraner ¥ Wl & SIFIR 3 R 6 T ded | ?
Options:
1) Percolation

2) Conduction

EINE]

3) Leaching

ElCINEE

4) Transpiration

URYHT

Correct Answer: Leaching
&

Candidate Answer: Percolation

Question 44.Heat is transmitted from higher temperature to lower temperature through the actual motion of the molecules in

fofifea & § fow uftear  srujsit & aRafd® 71id & ATeEm ¥ I AIHH I FYR d0HE S S HT T @SS ?
Options:

1) Conduction

EINE]

2) Convection

g

3) Radiation

fafeur

4) Both conduction and convection
TME SR & <Al

Correct Answer: Convection
Hae

Candidate Answer: Conduction
EISE)

Question 45.Polio is caused by

I b R g R ?
Options:
1) Bacteria

2) Virus

3) Fungus
Erca
4) Protozoa

Correct Answer: Virus

Candidate Answer: Virus

Question 46.Which country is in the process of building the largest single Aperture Radio Telescope - FAST

DI I T TT Thd D I (TURER) ST SRR - FAST &1 1 Ufgpan & am & 2
Options:

1) Japan

S

2) China

Els|

3) USA
SAR®T
4) Russia
B33l

Correct Answer: China

Candidate Answer: [ NOT ANSWERED ]



Question 47.The Kovvada Nuclear Park project is proposed to be setup in which State?

PIATST GfFTIR UTh TRANSHT BT e o8 RIIT 3 BT Ia © ?
Options:

1) Rajasthan

RSEIEE

2) Uttar Pradesh

JR UG

3) Andhra Pradesh

SR TSR

4) Karnataka

FrlcH

Correct Answer: Andhra Pradesh
TR TR

Candidate Answer: [ NOT ANSWERED ]

Question 48.Fixed Foreign Exchange Rate can be changed by

o o= go1 3t R B HH d5d IHaT g ?
Options:

1) RBI

HRAT Rord S

2) SEBI

it

3) Ministry of Finance
[CREEISE]

4) FIPB

. oS, W, o,

Correct Answer: RBI

Candidate Answer: RBI
YR fod S

Question 49.In bio fortification technique plant breeders use breeding to overcome

g g T W UTEY Ui b R R & O Ui deb-iidh ol TN il © ?
Options:
1) Loss due to insect pests
[ % SR g8 g1
2) Decrease in food production
T e | HHt
3) Deficiencies of micronutrients and vitamins

A UIval SR

4) Loss due to plant diseases
Ty AT & HROT gs g1
Correct Answer: Deficiencies of micronutrients and vitamins

e it 3R faetdet it
Candidate Answer: [ NOT ANSWERED ]

Question 50.Which Institution has the final authority to interpret the Constitution of India?

URT F I afiF Bt IR A 1 Sifdd MRIER e ¥ wea § 2
Options:

1) Parliament

Tqoq

2) Supreme Court of India

YR DT FddH TR

3) President

4) Attorney General of India

URA & HeHI ST RA

Correct Answer: Supreme Court of India
URA BT STTH R

Candidate Answer: Supreme Court of India
YR HT STTH -

Question 51.A and B together can do a piece of work in 9 days. If A does thrice the work of B in a given time, the time A alone will take to finish the work is

A 3R B fireie fhet 1 1 9 3 H 9= aha ¥ fe A fht Ay T & B faT1 o/ 2 o € i A 1ball b bl fober) o B GHTe e 2
Options:

1) 4 days

4

2) 6 days

6 fa

3) 8 days

g

4) 12 days

121

Correct Answer: 12 days

12f&3



Candidate Answer: [ NOT ANSWERED ]

Question 52.The diameters of two cylinders are in the ratio 3:2 and their volumes are equal. The ratio of their heights is

QY ST T I 3:2 F STU A B SR I 3 SRR § | IT! SIS BT U Fargy ?
Options:
1) 2:3

2)3:2
3) 9:4

4) 4:9
Correct Answer: 4:9
Candidate Answer: 9:4

Question 53.A trader sold a cycle at a loss of 10%. If the selling price had been increased by Rs. 200, there would have been a gain of 6%. The cost price of the
cycle is

TF AR A TF ARHA B 10% T R 3= | 3fe i) &1 g Rs. 20091 fran S @ S 6% &1 giaT 8| Iford &1 959 Yo a1y ?
Options:
1) Rs.1200

2) Rs.1205
3) Rs.1250

4) Rs.1275
Correct Answer: Rs.1250
Candidate Answer: Rs.1250

Question 54.In a city, 40% of the people are illiterate and 60% are poor. Among the rich, 10% are illiterate. The percentage of the illiterate poor population is

ot TeX & 40% AT FReR § 3R 60% o e § | T il & 10% < FReR § | FRer fd il o1 ufdsra sa=e ?
Options:
1) 36

2) 60
3)40

4) 50
Correct Answer: 60
Candidate Answer: [ NOT ANSWERED ]

Question 55.In what time will a 100 metre long train running with a speed of 50 km/hr cross a pillar?

TF 100 Hiex Tt ¢ o7 I 50 5.7, /5T 3 IR | T e B, ol T o UR v # b g ot 2
Options:

1) 7.0 sec

7.0 ¥deq

2) 72 sec

72 Jdeyq

3) 7.2 sec

7.2 Y&y

4) 70 sec

70 THSY

Correct Answer: 7.2 sec
7.2 ¥H3Y

Candidate Answer: 7.2 sec
7.2 ¥HsY

Question 56.

2p 1 1
— , then the value of p +5 will be

f ———=
p2 —2p+1 4

M-,

P —2p+1 4
@ p+ L BIHA AL ?
P



Options:
1)8

2) 10
3) 12

4) None of these
Correct Answer: 10
Candidate Answer: 10

2

Question 57.If | + m + n = 9 and 12 + m? + n? = 31, then the value of Im + mn + nl will be

R+ m+n=93RI12+m?2+n?=31 8, @ Im + mn + nl BT T §aRY ?
Options:
1) 22

2) 50
3)25

4) -25
Correct Answer: 25
Candidate Answer: 25

Question 58.The centroid of a triangle is the point where

et Brepior 1 Fesieh a8 i @ TET IR ?
Options:

1) the medians meet

T aTd et €

2) the altitudes meet

oY @ firad g

3) the right bisectors of the sides of the Friangle meet
BT @t Yemsit % e e fArad §

4) the bisectors of the angles of the triangle meet
Bt & FHon & gy frad g

Correct Answer: the medians meet

Te Yy e €

Candidate Answer: the medians meet

T Yy e €
Question 59.1In a triangle PQR, the side QR is extended to S. £QPR = 72° and 2PRS = 110°, then the value of 2PQR is:

PQR 10T F YSIT QR 1 S dep Werm T 21 T2 QPR = 720 3R £PRS = 110° g, A PQR BT HIF o1 ENTI 2

Options:
1) 38°

2) 32°
3) 250

4) 29°
Correct Answer: 38°
Candidate Answer: 38°

Question 60.In a trapezium ABCD, AB || CD, AB < CD, CD = 6 cm and distance between the parallel sides is 4 cm. If the area of ABCD is 16 cm?, then AB is

{3t TreiT ABCD # AB || CD, AB < CD, CD = 6 ¥ T, 3iR TH=R YaTafi & o g&t 4 ¥ . §1 A ABCD &1 8% 16 § H1.2 T, df AB &7 HH 1 ST ?
Options:

1)1cm

194,

2)2cm

294,

3)3cm

39

4) 8 cm

8 9.4,

Correct Answer: 2 cm

29

Candidate Answer: 2 cm

234

Question 61.If tanB + cot® = 5, then the value of tan? 6+ cot? 6 is

Tf tand + cotd = 5 B, A tan? B+ cot? 8 HT HH 13T ?



Options:
1) 22

2) 25
3)23
4) 27

Correct Answer: 23
Candidate Answer: 23

Question 62.When a number is divided by 56, the remainder will be 29. If the same number is divided by 8, then the remainder will be

P T P56 T URT S W AN 29 AT 21 Ife SWE  BH! 8 I U fbar SQ, o [ 1 R 2
Options:
1)6

2)7
3)5
4)3

Correct Answer: 5
Candidate Answer: 5

Question 63.If a shop keeper marks his goods for a certain amount so as to get 25% gain after allowing a discount of 20%, then his marked price is

I P gHMER U aegsit R Th Haad 3ifdrd Fa1 7 o IR 20% e 3 & a1a IA 25% &1 g1 af sifed g Fam=e 2
Options:
1) Rs.156.25

2) Rs.146.25
3) Rs.166.25

4) Rs.150.25
Correct Answer: Rs.156.25
Candidate Answer: [ NOT ANSWERED ]

Question 64.The average of marks of 17 students in an examination was calculated as 71. But it was later found that the mark of one student had been wrongly
entered as 65 instead of 56 and another as 24 instead of 50. The correct average is

gg';uﬁ&nﬁ 17 el & e siw 71 A1 fbeg a1e & U =a b U faarif & sis TTaht § 56 % oI 65 ford MU 3R U gwk femif & 50 & g 24 g mul et
1 Hifo|

Options:
1) 70

2)71
3)72

4)73
Correct Answer: 72
Candidate Answer: 72

Question 65.The simple interest on a sum for 5 years is two-fifth of the sum. The rate of interest per annum is

Tt 4mRIfRT 7 5 Y T FIYRYT ST I R BT 2/5 HIT § | TSl I I & 1T PIoTg ?
Options:
1)0.1

2)0.08
3) 0.06

4) 0.04
Correct Answer: 0.08
Candidate Answer: 0.08

Question 66.

1
If (x+ = )? =3, then the value of »* + i
{x x) en the value of x 5 is

ﬂﬁ{x+i}z=3€{,ﬁ[xg+lgﬁ
* aHEane ©



Options:
10

2)1
3)2

4) -1
Correct Answer: 0
Candidate Answer: 0

Question 67.If a - b = 3 and a2 + b2 = 25, then the value of ab is

gida-b=33MRa2+b?=25,d abPH I T |

Options:
1) 16

2)8
3)10

4) 15
Correct Answer: 8
Candidate Answer: 8

Question 68.In AABC, «B = 70° and 2C = 60°. The internal bisectors of the two smallest angles of AABC meet at O. The angle so formed at O is

AABC & £B = 70° 3R C = 60°, AABC & T&Q BIC HI0N P 3R fGHSH 0 IR AT 81 39 USR 0 WR &1 Hivr i feeht &1 gvm 2

Options:
1) 125°

2) 120°
3) 115°

4) 110°
Correct Answer: 125°
Candidate Answer: 125°

Question 69.If B be positive acute angle and 5cosB + 12sin@ = 13, then the value of cos6 is

Ife; 0 YAIHH GABIV 3R 5cos B + 12sin 6 = 13 B, A cos B HT AF I Hfory ?
Options:

1)

12/13

2)
5/13

3)
5/12

4)
1/5

Correct Answer:
5/13

Candidate Answer:
5f13

Question 70.A cylinderical container of 32 cm height and 18 cm radius is filled with sand. Now all this sand is used to form a conical heap of sand. If the height of the
conical heap is 24 cm, what is the radius of its base?

32 Q.11 S 3R 18 I 1. Y BT aTe T IAIHR UH ¥ F HRT S| T8 AR X Uh WP DR BT &R M b o7 TN B St § 1 IfS 3 P 3MBR P R Bl Salls
24 9.1, g1, 9 IUb 9a & o @ gvh ?
Options:

1) 12 cm

12 9.9,

2) 24 cm

24 .10,

3)36cm

36 9.,

4) 48 cm

48 9.1,

Correct Answer: 36 cm

36 .1t



Candidate Answer: 36 cm

36 2.1,

Question 71.The angle of elevation of the top of a pillar from the foot and the top of a building 20 m high, are 60° and 30° respectively. The height of the pillar is

20 Hiex i) TARA & YR 3R 2 F bl wra & L YT BT ITTT D01 HA: 60° 3R 30°8 | T B HIE T |
Options:

1)10m

10 7.

2) 10V3m

10v3 .

3)60m

60 .

4)30 m

30 M.

Correct Answer: 30 m
30 M.

Candidate Answer: 30 m
30 M.

Question 72.The pie-chart shows the percentage of literate and illiterate male and female in a state. Study the diagram and answer the following questions.

uréméﬁ%wﬁm&mﬁvﬁ?&r{w 3R &t o1 vferd S=ifar T 31 SR BT ST e o Fufaiad us & I i

Literate Male

. 45%)
Illiterate Female

(12%)

Literate Fermale llliterate male
{35%) (8%)

If the total number is 35000, then the difference between the numbers of literate male and literate female is
Ife A 5000 BT N AR GOV IR TeR i Bl d - B 3R TSy ?

Options:

1) 3500

2) 3700

3) 400

4) 4500
Correct Answer: 3500
Candidate Answer: 3500



Question 73.The pie-chart shows the percentage of literate and illiterate male and female in a state. Study the diagram and answer the following questions.

Wﬁ‘aﬁﬁ%@ﬁmﬁw&r\faﬁ?ﬁ?&r{w 3R Ferd 1 wfoera <=ifar AT §1 3 b1 Sieme Y iR Ffefad s & IR v

Literate Male

. 45%)
Illiterate Female

(12%)

Literate Female llliterate male
(35%) (8%)

The difference of central angles corresponding to illiterate male and illiterate female is

fReR oW oIk FReR &t & degedt Hwsfa o &1 SR Jasy ?
Options:
1) 12.2°

2) 13.4°
3) 11.2°

4) 14.4°
Correct Answer: 14.4°
Candidate Answer: 14.4°

Question 74.The pie-chart shows the percentage of literate and illiterate male and female in a state. Study the diagram and answer the following questions.

o7 91E H Tl AT H e IR FReR ot SR fRerdt o7 f=Ia =iiar 1 71 3R BT Sed Y SR Hufifad ws % IR diforg)

Literate Male

. 45%)
lliterate Female

(12%)

Literate Female llliterate male
(35%) (8%)

If the difference between the two categories of people are represented by 36° in the diagram then these categories are

Ife &1 A I AR b i SR SR B 36° =T T B, o IRy 9 A HE-R E 2
Options:

1) literate male and literate female

TR GBIV 3R e

2) literate male and illiterate male

TR IV 3R FReR g2y

3) illiterate male and literate female

ReR gy 3IR WieR et

4) illiterate male and illiterate female

fReR gow ok fARer &t

Correct Answer: literate male and literate female
TR TIY 3R e et

Candidate Answer: literate male and literate female

TR GBY 3R WeR et



Question 75.The pie-chart shows the percentage of literate and illiterate male and female in a state. Study the diagram and answer the following questions.

trré%rrc‘ﬁﬁ»—\tﬁmﬁw&r_\fah?ﬁ?&r\fw 3R Ferd 1 vfrerd <=ifar T §1 31 T Siee Y iR FAfefad sl % IR v

Literate Male

. 45%)
Illiterate Female

(12%)

Literate Fermale Illiterate male
(35%) (8%)

If two categories together have a central angle of 169.2° , then these categories are

Ife 1 AT Y T TR AR F<ER HI0T 169.2° B, N Ty I ARt - F 2
Options:

1) literate female and illiterate female

weR et ok FReR et

2) literate male and illiterate female

TR TV 3R FReR &t

3) illiterate male and illiterate female

fReR oW ok FRer &t

4) illiterate male and literate female

fReR 7o ok WeR et

Correct Answer: literate female and illiterate female
e & ik FReR Rt

Candidate Answer: literate female and illiterate female

e feerai 3k FRer &t

Question 76.1In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

CONSTRAIN
Options:

1) STRESS

2) CONTRADICT
3) RESTRICT

4) OBSTRUCT

Correct Answer: RESTRICT
Candidate Answer: RESTRICT

Question 77.1In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it.

NONCONFORMIST
Options:

1) CONVENTIONAL
2) PRACTICAL

3) FASHIONABLE
4) NOMAD

Correct Answer: CONVENTIONAL
Candidate Answer: CONVENTIONAL

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Erroneous

2) Eronneous

3) Erronous

4) Eroneous

Correct Answer: Erroneous

Candidate Answer: Erroneous

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Although I have never seen the girl before, (A)/ I recognized her at once (B)/ from her photograph (C)/ no error (D)



Options:

1A

2)B

3)C

4)D

Correct Answer: A
Candidate Answer: D

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

There was a (A)/ comparison between (B)/ you and he (C)/ no error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: C

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

He flowed into a rage (A)/ at the very (B)/ sight of that man (C)/ No error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: A

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Heis connected.
Options:

1) respectively

2) respective

3) respectably

4) respectable

Correct Answer: respectably
Candidate Answer: respectably

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

After retirement Surti lived Australia.
Options:

1)in

2) at

3) over in

4) over at

Correct Answer: in

Candidate Answer: in

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

He the low pay.
Options:

1) moan at

2) complain about

3) grumbled at

4) ran after

Correct Answer: grumbled at

Candidate Answer: complain about

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Pros and Cons

Options:

1) Professionals

2) Con artists

3) Professionals and con artists

4) Advantages and disadvantages

Correct Answer: Advantages and disadvantages

Candidate Answer: Advantages and disadvantages



Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Once in a blue moon
Options:

1) Very rarely

2) Common

3) Predictable

4) Ordinary

Correct Answer: Very rarely
Candidate Answer: Very rarely

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Fish out of water

Options:

1) Dehydrated

2) Comfortable position

3) An uncomfortable position
4) Fish in an aquarium

Correct Answer: An uncomfortable position
Candidate Answer: An uncomfortable position

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A remedy for all diseases
Options:

1) Antiseptic

2) Antibiotic

3) Narcotics

4) Panacea

Correct Answer: Panacea

Candidate Answer: Panacea

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Of the highest quality
Options:

1) Productive

2) Reactive

3) Superlative

4) Relative

Correct Answer: Superlative

Candidate Answer: Superlative

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A place of shelter for ships
Options:

1) Harbour

2) Helipad

3) Port

4) Barrack

Correct Answer: Harbour
Candidate Answer: Harbour

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

His wife is as tall if not, taller than him.
Options:

1) as tall as, if not

2) as taller if not

3) not as tall but as

4) No improvement

Correct Answer: as tall as, if not
Candidate Answer: as tall as, if not

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

He is a fast bowler of repute, but his yesterday's performance was not up to the mark.
Options:

1) performance for yesterday

2) yesterday performance

3) performances for yesterday

4) No improvement




Correct Answer: No improvement
Candidate Answer: No improvement

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Owing to his respiratory problems the doctor has told him to refrain from smoking.
Options:

1) to not refrain from

2) to refrain to

3) to refrain not from

4) No improvement

Correct Answer: No improvement
Candidate Answer: No improvement

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

He is suffering from fever for a week.
Options:

1) was suffering

2) had suffering

3) has been suffering

4) No improvement

Correct Answer: has been suffering
Candidate Answer: has been suffering

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

None knows how it was happened
Options:

1) was happen

2) has happened

3) happened

4) No improvement

Correct Answer: happened
Candidate Answer: happened

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

The snowstorm was getting worse. White flakes whirled around us as we fought our way against the wind. I had almost given up hope of sheltering, when we found
an abandoned log cabin in front of us.

I squeezed through the door of the cabin and stepped cautiously inside with Jane close behind me. It was dark and musty-smelling, but at least it was sheltered and
dry.

Glad to be out of the storm, we settled down on the dusty floor to wait for a break in the weather."What's this?" asked Jane curiously. Her hand closing over
something shiny. She held it up to the weak ray of light that pierced the gloom. A gold necklace glittered and shone. Its ruby pendant was a lustrous wine-red in the
faint beam. Strangely, there was no dust on the necklace. It was almost as though it had dropped from the throat of its owner moments ago.

We gazed at each other speechlessly. What strange mystery had we accidently stumbled upon?

What had the writer given up hope?

Options:

1) To be able to withstand this snowstorm

2) To be able to fight her way against the wind
3) That the snowstorm would improve

4) To find shelter from the wind

Correct Answer: To find shelter from the wind
Candidate Answer: To find shelter from the wind

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

The snowstorm was getting worse. White flakes whirled around us as we fought our way against the wind. I had almost given up hope of sheltering, when we found
an abandoned log cabin in front of us.

I squeezed through the door of the cabin and stepped cautiously inside with Jane close behind me. It was dark and musty-smelling, but at least it was sheltered and
dry.

Glad to be out of the storm, we settled down on the dusty floor to wait for a break in the weather."What's this?" asked Jane curiously. Her hand closing over
something shiny. She held it up to the weak ray of light that pierced the gloom. A gold necklace glittered and shone. Its ruby pendant was a lustrous wine-red in the
faint beam. Strangely, there was no dust on the necklace. It was almost as though it had dropped from the throat of its owner moments ago.

We gazed at each other speechlessly. What strange mystery had we accidently stumbled upon?

What did the two friends find while searching for shelter?



Options:

1) A haunted hut

2) A deserted hut

3) A very old hut

4) A very small hut

Correct Answer: A deserted hut

Candidate Answer: A deserted hut

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

The snowstorm was getting worse. White flakes whirled around us as we fought our way against the wind. I had almost given up hope of sheltering, when we found
an abandoned log cabin in front of us.

I squeezed through the door of the cabin and stepped cautiously inside with Jane close behind me. It was dark and musty-smelling, but at least it was sheltered and
dry.

Glad to be out of the storm, we settled down on the dusty floor to wait for a break in the weather."What's this?" asked Jane curiously. Her hand closing over
something shiny. She held it up to the weak ray of light that pierced the gloom. A gold necklace glittered and shone. Its ruby pendant was a lustrous wine-red in the
faint beam. Strangely, there was no dust on the necklace. It was almost as though it had dropped from the throat of its owner moments ago.

We gazed at each other speechlessly. What strange mystery had we accidently stumbled upon?

Why did the writer step cautiously inside the cabin?

Options:

1) Because she was feeling so cold that her legs had become numb
2) Because she could not see clearly in the dark

3) Because the wind made it difficult for her to enter quickly

4) Because the cabin was very dusty

Correct Answer: Because she could not see clearly in the dark

Candidate Answer: Because she could not see clearly in the dark

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

The snowstorm was getting worse. White flakes whirled around us as we fought our way against the wind. I had almost given up hope of sheltering, when we found
an abandoned log cabin in front of us.

I squeezed through the door of the cabin and stepped cautiously inside with Jane close behind me. It was dark and musty-smelling, but at least it was sheltered and
dry.

Glad to be out of the storm, we settled down on the dusty floor to wait for a break in the weather."What's this?" asked Jane curiously. Her hand closing over
something shiny. She held it up to the weak ray of light that pierced the gloom. A gold necklace glittered and shone. Its ruby pendant was a lustrous wine-red in the
faint beam. Strangely, there was no dust on the necklace. It was almost as though it had dropped from the throat of its owner moments ago.

We gazed at each other speechlessly. What strange mystery had we accidently stumbled upon?

What did Jane find?

Options:

1) A necklace made of gold

2) A necklace made of red ruby

3) A red-coloured necklace

4) A golden necklace with a pendant on it

Correct Answer: A golden necklace with a pendant on it

Candidate Answer: A golden necklace with a pendant on it

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

The snowstorm was getting worse. White flakes whirled around us as we fought our way against the wind. I had almost given up hope of sheltering, when we found
an abandoned log cabin in front of us.

I squeezed through the door of the cabin and stepped cautiously inside with Jane close behind me. It was dark and musty-smelling, but at least it was sheltered and
dry.

Glad to be out of the storm, we settled down on the dusty floor to wait for a break in the weather."What's this?" asked Jane curiously. Her hand closing over
something shiny. She held it up to the weak ray of light that pierced the gloom. A gold necklace glittered and shone. Its ruby pendant was a lustrous wine-red in the
faint beam. Strangely, there was no dust on the necklace. It was almost as though it had dropped from the throat of its owner moments ago.

We gazed at each other speechlessly. What strange mystery had we accidently stumbled upon?

What was the strange thing about the necklace?
Options:

1) It was made of marble

2) It was pink in colour

3) There was no dust in it

4) There was a picture on the pendant
Correct Answer: There was no dust in it

Candidate Answer: There was no dust in it






